Vol.6.Issue.3.2018 (July-Sept.) ©KY PUBLICATIONS



http://www.bomsr.com Email:editorbomsr@gmail.com

RESEARCH ARTICLE

BULLETIN OF MATHEMATICS AND STATISTICS RESEARCH

A Peer Reviewed International Research Journal



THE LOGARITHMICALLY COMPLETE MONOTONICITY AND INEQUALITIES INVOLVING THE *k*-GAMMA FUNCTION

JUMEI ZHANG¹, LI YIN², HONGLIAN YOU³

 ¹College of Science, Binzhou University, Binzhou City, Shandong Province,256603, China E-mail address: wdzjm02@163.com
 ²College of Science, Binzhou University, Binzhou City, Shandong Province,256603, China E-mail address: yinli 79@163.com/yinli7979@163.com
 ³College of Science, Binzhou University, Binzhou City, Shandong Province,256603, China E-mail address: hlyou@mail.bnu.edu.cn



ABSTRACT

In this paper, we prove several logarithmically completely monotonic results involving k-gamma function, and deduce some inequalities related to k-multinomial coefficient and k-multinomial beta function. These results can be used to evaluate or estimate some integrals.

Keywords: logarithmically completely monotonic; inequalities; k -multinomial coefficient; k-multivariate beta function

1. Introduction

The k-analogue of the gamma and psi functions are defined as(See [14,15,16,17,18])

$$\Gamma_k(x) = \int_0^\infty t^{x-1} e^{-\frac{t^k}{k}} \mathrm{d}t, \qquad (1.1)$$

$$\psi_k(x) = \frac{d}{dx} \ln \Gamma_k(x). \tag{1.2}$$

where $k \in \mathbb{N}$, $x \in (0, \infty)$ and $\Gamma_1(x) = \Gamma(x)$, $\Gamma_k(k) = 1$, $\Gamma_k(x + k) = x\Gamma_k(x)$. The gamma, digamma and polygamma functions and its *k*-analogues play an important role in the theory of special functions, and have many applications in other many branches, such as statistics, fractional differential equations, mathematical physics and theory of infinite series. The reader may see references [4,5,6,7,8,9,10,30,31,32]. Some of the work about the complete monotonicity, convexity and concavity, and inequalities of these special functions may refer to [21,23,24,25,26,27]. Accordingly, we have

$$\psi_k(x) = \frac{d}{dx} \ln \Gamma_k(x) = \frac{\ln k - \gamma}{k} - \frac{1}{x} + \sum_{i=1}^{\infty} \frac{x}{ik(ik+x)},$$
(1.3)

$$\psi_k^{(m)}(x) = \frac{d^m}{dx^m} \ln \Gamma_k(x) = (-1)^{m+1} m! \sum_{i=0}^{\infty} \frac{1}{(ik+x)^{m+1}}$$
$$= (-1)^{m+1} \int_0^\infty \frac{t^m e^{-xt}}{1 - e^{-kt}} \, \mathrm{d}t, \ m \ge 1,$$
(1.4)

where $\gamma = \lim_{n \to \infty} \left(\sum_{i=1}^{n} \frac{1}{i} - \ln n \right) = 0.57721566 \dots$ is the Euler-Mascheroni's constant for $m \in \mathbb{N}$. Let the multinomial coefficient and the multivariate beta function be

$$\binom{\sum_{i=1}^{n} b_i}{b_1, b_2, \cdots, b_n} = \frac{\Gamma(1 + \sum_{i=1}^{n} b_i)}{\prod_{i=1}^{n} \Gamma(1 + b_i)},$$

and

$$\beta(b_1, b_2, \cdots, b_n) = \frac{\prod_{i=1}^n \Gamma(b_i)}{\Gamma(b_1 + \dots + b_n)'}$$

respectively. Hence, Q(x) is defined as

$$Q(x) = Q_{b,q;n}(x) = \frac{\Gamma(1 + x \sum_{i=1}^{n} b_i)}{\prod_{i=1}^{n} \Gamma(1 + xb_i)} \prod_{i=1}^{n} q_i^{xb_i} = \begin{pmatrix} x \sum_{i=1}^{n} b_i \\ xb_1, xb_2, \cdots, xb_n \end{pmatrix} \prod_{i=1}^{n} q_i^{xb_i}$$
$$= \frac{\sum_{i=1}^{n} b_i}{\prod_{i=1}^{n} b_i} \frac{\prod_{i=1}^{n} q_i^{xb_i}}{x^{n-1}\beta(xb_1, \cdots, xb_n)}, x \in (0, \infty), n \in \mathbb{N},$$
(1.5)

where $b = (b_1, b_2, \dots, b_n)$ with $b_i > 0$, $q = (q_1, q_2, \dots, q_n)$ with $\sum_{i=1}^n q_i = 1$ and $q_i > 0$ for $1 \le i \le n$. In [19] and [28], the authors proved that the function defined in (5) is logarithmically completely monotonic. For $a \in (0, 1)$, the logarithmically complete monotonicity of

$$Q_a(x) = Q_{a;b,q;n}(x) = \frac{\Gamma_a(1+x\sum_{i=1}^n b_i)}{\prod_{i=1}^n \Gamma_a(1+xb_i)} \prod_{i=1}^n q_i^{xb_i},$$
(1.6)

has been proved by Qi in [20]. For more detailed information about the function Q(x), one can refer to [2,3,12,13,19,22,28,33] and their references. Attracted by these work, it is natural to look for an extension involving $\psi_k(x)$ and $\psi_{p,k}(x)$. In this paper, we will study the logarithmically complete monotonicity of the function $Q_k(x) = Q_{k;b,q;n}(x)$, $k \in \mathbb{N}$ and establish some inequalities.

2. The logarithmically completely monotonic function

In this paper, we denote $Q_k(x) = Q_{k;b,q;n}(x)$ as follows

$$Q_k(x) = Q_{k;b,q;n}(x) = \frac{\Gamma_k(k+x\sum_{i=1}^n b_i)}{\prod_{i=1}^n \Gamma_k(k+xb_i)} \prod_{i=1}^n q_i^{xb_i},$$
(2.1)

where $x \in (0, \infty)$, $k, n \in \mathbb{N}$, $b = (b_1, b_2, \dots, b_n)$ with $b_i > 0$, $q = (q_1, q_2, \dots, q_n)$ with $\sum_{i=1}^n q_i = 1$ and $q_i > 0$ for $1 \le i \le n$. It is obviously that $Q_1(x) = Q(x)$.

Theorem 2.1. Let $x \in (0, \infty)$, $k, n \in \mathbb{N}$, $b = (b_1, b_2, \dots, b_n)$ with $b_i > 0$, $q = (q_1, q_2, \dots, q_n)$ with $\sum_{i=1}^n q_i = 1$ and $q_i > 0$ for $1 \le i \le n$. Then the function $Q_k(x)$ defined in (7) is logarithmically completely monotonic for $x \in (0, \infty)$.

Proof. By directly calculating, we obtain

$$\ln Q_k(x) = \ln \Gamma_k \left(k + x \sum_{i=1}^n b_i \right) - \sum_{i=1}^n \ln \Gamma_k(k + xb_i) + x \sum_{i=1}^n b_i \ln q_i,$$

$$\left[\ln Q_k(x) \right]' = \left(\sum_{i=1}^n b_i \right) \psi_k(k + x \sum_{i=1}^n b_i) - \sum_{i=1}^n b_i \psi_k(k + xb_i) + \sum_{i=1}^n b_i \ln q_i,$$

and

$$\left[\ln Q_k(x)\right]'' = \left(\sum_{i=1}^n b_i\right)^2 \psi'_k(k+x\sum_{i=1}^n b_i) - \sum_{i=1}^n b_i^2 \psi'_k(k+xb_i).$$

By using (4), we get

$$\psi'_{k}(vx+k) = \int_{0}^{\infty} \frac{t}{1-e^{-kt}} e^{-(vx+k)t} dt$$
$$= \int_{0}^{\infty} \frac{t}{e^{kt}-1} e^{-vxt} dt = \int_{0}^{\infty} g\left(\frac{\rho}{v}\right) e^{-\rho x} d\left(\frac{\rho}{v}\right),$$

where v > 0, $\rho = vt$, and $g(t) = \frac{t}{e^{kt} - 1}$. Therefore, we obtain

$$\left[\ln Q_k\left(x\right)\right]'' = \int_0^\infty G\left(\rho\right) e^{-\rho x} d\left(\frac{\rho}{\nu}\right),\tag{2.2}$$

where

$$G(\rho) = \left(\sum_{i=1}^{n} b_i\right)^2 g\left(\frac{\rho}{\sum_{i=1}^{n} b_i}\right) - \sum_{i=1}^{n} b_i^2 g\left(\frac{\rho}{b_i}\right).$$
(2.3)

In the following, we shall prove $G(\rho) > 0$.

Considering the following identities:

$$\begin{split} \lim_{t \to 0^+} t^2 g\left(\frac{1}{t}\right) &= 0, \\ \frac{d}{dt} \left[t^2 g\left(\frac{1}{t}\right)\right] &= \frac{d}{dt} \left(\frac{t}{e^{\frac{k}{t}} - 1}\right) = \frac{1}{e^{\frac{k}{t}} - 1} + \frac{ke^{\frac{k}{t}}}{t(e^{\frac{k}{t}} - 1)^2} > 0, \\ \frac{d^2}{dt^2} \left[t^2 g\left(\frac{1}{t}\right)\right] &= k^2 e^{\frac{k}{t}} \left(\frac{2e^{\frac{k}{t}}}{(e^{\frac{k}{t}} - 1)^3 t^3} - \frac{1}{(e^{\frac{k}{t}} - 1)^2 t^3}\right) > 0, \end{split}$$

and based on the results in [11], we obtain $t^2 g(\frac{1}{t})$ is star-shaped and super-additive on $(0, \infty)$, that indicates

$$\left(\sum_{i=1}^{n} \frac{b_i}{\rho}\right)^2 g\left(\frac{1}{\sum_{i=1}^{n} \frac{b_i}{\rho}}\right) \ge \sum_{i=1}^{n} \left(\frac{b_i}{\rho}\right)^2 g\left(\frac{\rho}{\frac{b_i}{\rho}}\right),$$

which can be simplified as

$$\left(\sum_{i=1}^{n} b_i\right)^2 g\left(\frac{\rho}{\sum_{i=1}^{n} b_i}\right) \ge \sum_{i=1}^{n} b_i^2 g\left(\frac{\rho}{b_i}\right).$$
(2.4)

So, we prove that $G(\rho) > 0$.

Based on Bernstein Theory in [29], we can deduce that $[\ln Q_k(x)]''$ is completely monotonic, which also indicates $[\ln Q_k(x)]'$ is strictly increasing. Moreover, by applying (3), we can prove $[\ln Q_k(x)]' < 0$. Hence, the function $Q_k(x)$ is logarithmically completely monotonic for $x > 0, k \in \mathbb{N}$.

3. Inequalities for the *k*-multinomial coefficient

In this section, we give some inequalities related to the k-multinomial coefficient. The k-multinomial coefficient is defined as

$$\binom{\sum_{i=1}^{n} b_i}{b_1, b_2, \cdots, b_n}_k = \frac{\Gamma_k (k + \sum_{i=1}^{n} b_i)}{\prod_{i=1}^{n} \Gamma_k (k + b_i)'},$$
(3.1)

where $k, n \in \mathbb{N}$, and $b = (b_1, b_2, \dots, b_n)$ with $b_i > 0$ for $1 \le i \le n$. **Theorem 3.1.** The inequality

$$\begin{pmatrix} \sum_{j=1}^{l} \mu_{j} x_{j} \sum_{i=1}^{n} b_{i} \\ b_{1} \sum_{j=1}^{l} \mu_{j} x_{j}, b_{2} \sum_{j=1}^{l} \mu_{j} x_{j}, \cdots, b_{n} \sum_{j=1}^{l} \mu_{j} x_{j} \end{pmatrix}_{k}$$

$$\leq \prod_{j=1}^{l} \binom{x_j \sum_{i=1}^{n} b_i}{b_1 x_j, b_2 x_j, \cdots, b_n x_j}_{k}^{\mu_j}$$
(3.2)

issatisfied and the equality in (3.2) is satisfied if and only if $x_1 = x_2 = \cdots = x_l$, where $k, l, n \in \mathbb{N}$, $b = (b_1, b_2, \cdots, b_n)$ with $b_i > 0$ for $1 \le i \le n$, and $\mu_j \in (0,1)$ with $\sum_{j=1}^l \mu_j = 1$, $x_j > 0$ for $1 \le j \le l$.

Proof. By Theorem 2.1 we obtain that the function $Q_k(x)$ is logarithmically convex on $(0, \infty)$. That is

$$Q_k\left(\sum_{j=1}^l \mu_j x_j\right) \le \prod_{j=1}^l Q_k^{\mu_j} (x_j).$$
(3.3)

By the definition of $Q_k(x)$, (3.3) can be written as

$$\begin{pmatrix} \sum_{j=1}^{l} \mu_{j} x_{j} \sum_{i=1}^{n} b_{i} \\ b_{1} \sum_{j=1}^{l} \mu_{j} x_{j}, b_{2} \sum_{j=1}^{l} \mu_{j} x_{j}, \cdots, b_{n} \sum_{j=1}^{l} \mu_{j} x_{j} \end{pmatrix}_{k} \prod_{i=1}^{n} q_{i}^{b_{i} \sum_{j=1}^{l} \mu_{j} x_{j}} \\ \leq \prod_{j=1}^{l} \left[\begin{pmatrix} x_{j} \sum_{i=1}^{n} b_{i} \\ b_{1} x_{j}, b_{2} x_{j}, \cdots, b_{n} x_{j} \end{pmatrix}_{k} \prod_{i=1}^{n} q_{i}^{b_{i} x_{j}} \right]^{\mu_{j}}.$$
(3.4)

Eliminating the public factor in (3.4), we complete the *proof*.

Theorem 3.2. The inequality

$$\prod_{j=1}^{l} \begin{pmatrix} x_{j} \sum_{i=1}^{n} b_{i} \\ b_{1}x_{j}, b_{2}x_{j}, \cdots, b_{n}x_{j} \end{pmatrix}_{k}$$

$$< \begin{pmatrix} \sum_{j=1}^{l} x_{j} \sum_{i=1}^{n} b_{i} \\ b_{1} \sum_{j=1}^{l} x_{j}, b_{2} \sum_{j=1}^{l} x_{j}, \cdots, b_{n} \sum_{j=1}^{l} x_{j} \end{pmatrix}_{k}$$

$$(3.5)$$

is satisfied, where $k, l, n \in \mathbb{N}$, $b = (b_1, b_2, \dots, b_n)$ with $b_i > 0$ for $1 \le i \le n$, and $x_j > 0$ for $1 \le j \le l$.

Proof. By the results in [1] and the logarithmically convexity of the function $Q_k(x)$, we can obtain

$$\prod_{j=1}^{l} \binom{x_{j} \sum_{i=1}^{n} b_{i}}{b_{1} x_{j}, b_{2} x_{j}, \cdots, b_{n} x_{j}} \prod_{k=1}^{n} q_{i}^{b_{i} x_{j}}$$

$$< \binom{\sum_{j=1}^{l} x_{j} \sum_{i=1}^{n} b_{i}}{b_{1} \sum_{j=1}^{l} x_{j}, b_{2} \sum_{j=1}^{l} x_{j}, \cdots, b_{n} \sum_{j=1}^{l} x_{j}} \sum_{k=1}^{n} q_{i}^{b_{i} \sum_{j=1}^{l} x_{j}}$$

$$(3.6)$$

So, we easily obtain the inequality (3.5).

Theorem 3.3. If d > 0 and $0 < c \le d$, the inequality

$$\begin{pmatrix} (c+x)\sum_{i=1}^{n}b_{i} \\ (c+x)b_{1}, (c+x)b_{2} \dots (c+x)b_{n} \\ \leq \begin{pmatrix} c\sum_{i=1}^{n}b_{i} \\ cb_{1}, cb_{2}, \dots, cb_{n} \end{pmatrix}_{k} \begin{pmatrix} (d+x)\sum_{i=1}^{n}b_{i} \\ (d+x)b_{1}, (d+x)b_{2}, \dots, (d+x)b_{n} \end{pmatrix}_{k}$$

$$(3.7)$$

is satisfied and the equality in (3.7) is satisfied if and only if c = d, where k, $n \in \mathbb{N}b=b_1, b_2, \ldots, b_n$ with $b_i > 0$ for $1 \le i \le n$ and x > 0. *Proof.* Let

$$h(x) = \ln Q_k(c + x) - \ln Q_k(d + x) - \ln Q_k(c) + \ln Q_k(d)$$

with 0 < c < d. Since the function $Q_k(x)$ is a logarithmically completely monotonic function, the function $\frac{Q'k(x)}{Ok(x)}$ is strictly increasing. This implies

$$h'(x) = \frac{Q'k(c+x)}{Qk(c+x)} - \frac{Q'k(d+x)}{Qk(d+x)} < 0;$$

and h(x) < h(0) = 0. That is

$$h(x) = \ln \left(Q_k(c + x)Q_k(d) \right) - \ln \left(Q_k(d + x)Q_k(c) \right) \leq 0$$

So we get

$$\ln\left[\binom{(c+x)\sum_{i=1}^{n}b_{i}}{(c+x)b_{1},(c+x)b_{2}.....(c+x)b_{n}}_{k}\binom{d\sum_{i=1}^{n}b_{i}}{db_{1},db_{2}....db_{n}}_{k}\prod_{i=1}^{n}q_{i}^{b_{i}(c+x)b_{1}+b_{i}d}\right]$$

$$\leq \ln\left[\binom{c\sum_{i=1}^{n}b_{i}}{cb_{1},cb_{2}....cb_{n}}_{k}\binom{(d+x)\sum_{i=1}^{n}b_{i}}{(d+x)b_{1},(d+x)b_{2}....(d+x)b_{n}}_{k}\prod_{i=1}^{n}q_{i}^{b_{i}(d+x)b_{1}+b_{i}c}$$

The proof is complete.

4. Inequalities for the k -multivariate beta function

In this section, the k -multinomial beta function is defined as

$$\beta k(b1; b2;; bn) = \frac{\prod_{i=1}^{n} \Gamma_k(b_i)}{\Gamma_k(\sum_{i=1}^{n} b_i)}$$
(4.1)

where k; $n \in \mathbb{N}$, and $b = (b_1; b_2; \dots; b_n)$ with $b_i > 0$ for $1 \le i \le n$.

Theorem 4.1. The inequality

$$\frac{\prod_{i=1}^{n} \sum_{j=1}^{l} \mu_{j} x_{j} b_{i}}{\sum_{j=1}^{l} \mu_{j} x_{j} \sum_{i=1}^{n} b_{i}} \beta_{k} \left(b_{1} \sum_{j=1}^{l} \mu_{j} x_{j,} b_{2} \sum_{j=1}^{l} \mu_{j} x_{j,} \dots b_{n} \sum_{j=1}^{l} \mu_{j} x_{j} \right) \\
\geq \prod_{j=1}^{l} \left[\frac{\prod_{i=1}^{n} x_{j} b_{i}}{x_{j} \sum_{i=1}^{n} b_{i}} \beta_{k} (b_{1} x_{j,} b_{2} x_{j,} \dots b_{n} x_{j}) \right]^{\mu_{j}}$$
(4.2)

is satisfied and the equality in (4.2) is satisfied if and only if $x_1 = x_2 = \dots = x_l$. where k; l; $n \in \mathbb{N}$, $b = (b_1; b_2; \dots; b_n)$ with $b_i > 0$ for $1 \le i \le n$, and $\mu_j \in (0; 1)$ with $\sum_{j=1}^{l} \mu_j = 1$; $x_j > 0$ for $1 \le j \le l$. Proof. Substituting (3.1), (4.1) and $\Gamma_k (x + k) = x\Gamma_k (x)$ into (3.2), we obtain $\sum_{j=1}^{l} \mu_j x_j \sum_{i=1}^{n} b_i$ 1

$$\frac{\sum_{j=1}^{n} \sum_{j=1}^{l} \mu_{j} x_{j} b_{i}}{\prod_{i=1}^{n} \sum_{j=1}^{l} \mu_{j} x_{j} b_{i}} \frac{\sum_{j=1}^{l} \mu_{j} x_{j} \sum_{j=1}^{l} \mu_{j} x_{j}}{\sum_{i=1}^{l} b_{i}} \frac{1}{\prod_{i=1}^{n} x_{j} b_{i}} \frac{1}{\beta_{k}(b_{1}x_{j}, b_{2}x_{j}, \dots, b_{n}x_{j})} \right]^{\mu_{j}}$$
(4.3)
Taking the regime of $(A, 2)$ the inequality $(A, 2)$ is proved

Taking the reciprocal of (4.3), the inequality (4.2) is proved. **Corollary 4.2.** Let k; $n \in \mathbb{N}$, and $b = (b_1; b_2; ..; b_n)$ with $b_i > 0$ for $1 \le i \le n$. Then the function

$$\frac{\prod_{i=1}^{n} x b_{i}}{x \sum_{i=1}^{n} b_{i}} \beta k \left(b_{1} x_{i} b_{2} x_{i}, \dots, b_{n} x_{i} \right)$$
(4.4)

is logarithmically concave for x > 0. That is

$$\frac{x\sum_{i=1}^{n}b_{i}}{\prod_{i=1}^{n}xb_{i}}\frac{1}{\beta_{k}(b_{1}x,b_{2}x,\dots,b_{n}x,)}$$
(4.5)

is logarithmically completely monotonic for x > 0.

Proof. By (4.2) we can obtain the proof immediately.

Using similar procedure into Theorem (3.2) and (3.3), we can obtain the followinginequalities:

$$1.\prod_{j=1}^{l} \frac{\prod_{i=1}^{n} xb_{i}}{x\sum_{i=1}^{n} b_{i}} \beta k \left(b_{1}x_{j}b_{2}x_{j}, \dots, b_{n}x_{j} \right) \\ > \frac{\prod_{i=1}^{n} b_{i}\sum_{j=1}^{l} x_{j}}{\sum_{j=1}^{l} x_{j}\sum_{i=1}^{n} b_{i}} \beta k \left(b_{1}\sum_{j=1}^{l} \mu_{j} x_{j}, b_{2}\sum_{j=1}^{l} \mu_{j} x_{j}, \dots, b_{n}\sum_{j=1}^{l} \mu_{j} x_{j} \right)$$

$$2.\left(\frac{d+x}{c+x}\right)^{n-1} \frac{\beta k (b_{1}(d+x), b_{2}(d+x), \dots, b_{n}(d+x))}{\beta k (b_{1}d, b_{2}d, \dots, b_{n}d)}$$

$$(4.6)$$

JUMEI ZHANG et al.,

$$> \left(\frac{d}{c}\right)^{n-1} \frac{\beta k (b_1 d, b_2 d, \dots, b_n d)}{\beta k (b_1 c, b_2 c, \dots, b_n c)}$$

$$(4.7)$$

where k; l; $n \in \mathbb{N}$, $b = (b_1; b_2; ...; b_n)$ with $b_i > 0$ for $1 \le i \le n, x_j > 0$ for $1 \le j \le l, x > 0$; $0 < c \le d$, and the equality in (4.7) is satisfied if and only if c = d.

Acknowledgements

The authors are grateful to anonymous referees and the editor for their careful corrections and valuable comments on the original version of this paper.

Funding

This work was supported by National Natural Science Foundation of China (Grant No.11701320 and 11601036), the Science and Technology Foundations of Shandong Province (Grant No. J16li52, J14li54 and J17KA161) and Science Foundations of Binzhou University (Grant No. BZXYFB20150903 and BZXYL1704)

References

- [1]. H. Alzer, Complete monotonicity of a function related to the binomial probability, J. Math. Anal. Appl. 459(2018), no. 1, 10-15.
- [2]. R. D. Atanassov and U. V. Tsoukrovski, Some properties of a class of logatithmically completely monotonic functions. C. R. Acad. Bulgare Sci. 41(1998), no. 2, 21-23.
- [3]. C. Berg, Intgral representation of some functions related to the gamma function. Mediter. J. Math. 1(2004), no. 4, 433-439.
- [4]. S. N. Chiu and Ch. -C. Yin, On the Complete Monotonicity of the Compound Geometric Convolution with Applications to Risk Theory Scandinavian Actuarial Journal, 2014(2), 2014, 116-124.
- [5]. H. Dong and Ch. -C. Yin, Complete monotonicity of the probability of ruin and DE Finetti's dividend problem J. Syst. Sci Complex, 25 (1), 2012, 178-185.
- [6]. Y. -L. Guan, Z. -Q. Zhao and X. -L. Lin, On the existence of positive solutions and negative solutions of singular fractional differential equations via global bifurcation techniques Boundary Value Problems, 141 (2016), 1-18.
- [7]. Y. -X. Guo, Solvability for a nonlinear fractional differential equation, Bull. Aust. Math. Soc., 80,(2009), 125-138.
- [8]. Y. -X. Guo, Nontrivial solutions for boundary-value problems of nonlinear fractional differential equations, Bull.of the Korean Mathematical Society, 47,(2010), 81-87.
- [9]. J. -Q. Jiang, L. -Sh Liu, Existence of solutions for a sequential fractional differential system with coupled boundary conditions, Boundary Value Problems£- 2016(2016), 159.
- [10]. X. -L. Lin and Z. -Q. Zhao, Iterative technique for a third-order differential equation with three-point nonlinear boundary value conditions, Electronic Journal of Qualitative Theory of Differential Equations, 12 (2016), 1-10.
- [11]. A. W. Marshall, I. Olkin, and B. C. Arnold, Inequalities: Theory of Majorization and its Applications, 2nd Ed., Springer Verlag, 2011.
- [12]. D. S. Mitrinović, J. E. Pečarić, and A. M. Fink, Classical and New Inequalities in Analysis, Kluwer Academic Publishers, Dordrecht-Boston-London, 1993; Available online at http://dx.doi.org/10.1007/978-94-017-1043-5.
- [13]. E. Neuman, Inequalities involving a logarithmially convex function and their applications to specil functions. J. lequal. Pure Appl. Math., 7(1)(2006) Art. 16.

- [14]. K. Nantomah, On Some Properties and Inequalities for the Nielsen's beta Function, arXiv: 1708.06604vl 1432 [math.CA], 12 Pages.
- [15]. N. Nielsen, Handbuch der Theorie der Gamma funktion, First Edition, Leipzig: B. G. Teubner, 1906.
- [16]. K. Nantomah, Monotoicity and convexity properties of the Nielsen's beta-function. Probl. Anal. Issues Anal. 6(24)(2)(2017), 81-93.
- [17]. K. Nantomah, Monotoicity and convexity properties and some inequalities involving a generalized form of the Wallis' cosine formula. Asian Research Journal of Mathematics, 6(3)(2017), 1-10.
- [18]. K. Nantomah, E. Prempeh and S. B. Twum. On a **q**-analogue of the Gamma function and some associated inequalities, Moroccan J. Pure Appl. Anal.(MJPAA)Volume 2(2), 2016, 79-90.
- [19]. F. Ouimet, Complete monotonicity of multinomial propbabilities and its application to Bernstein estimators on the simplex. arXive preprint(2018), available online at https://arxiv. org/abs/1804.02018.
- [20]. F. Ouimet, A logarithmically completely monotonic function involving the q-Gamma function. arXive preprint(2018), available online at https://arxiv. org/abs/1804.02018.
- [21]. F. Qi, Bounds for the ratio of two gamma functions, J. Inequal. Appl., 2010(2010), 1-84.
- [22]. F. Qi, A logarithmically completely monotonic function involving the **q**-gamma function, HAL archives (2018), available online at https://hal.archives-ouvertes.fr/hal-01803352.
- [23]. F. Qi, R.-Q. Cui, C.-P. Chen, B.-N. Guo, Some completely monotonic functions involving polygamma functions and an application, J. Math. Anal. Appl., 310,1(2005), 303-308.
- [24]. F. Qi, B.-N. Guo, A class of completely monotonic functions involving divided differences of the psi and tri-gamma functions and some applications, J. Korean Math. Soc., 48,3(2011), 655-667.
- [25]. F. Qi, S. -L. Guo and B.-N. Guo, Completely monotonicity of some functions involving polygamma functions, J. Comput. Appl. Math., 233,(2010), 2149-2160.
- [26]. F. Qi, B.-N. Guo, Completely monotonic functions involving divided differences of the di- and tri-gamma functions and some applications, Commun. Pure Appl. Anal., 8,6(2009), 1975-1989.
- [27]. F. Qi, B.-N. Guo, Necessary and sufficient conditons for functions involving the tri- and tetragamma functions to be completely monotonic, Adv. Appl. Math., 44,1(2010), 71-83.
- [28]. F. Qi, D. W. Niu, D. Lim and B. N, Guo, Some logarithmically complete monotonic function and inequalities for multinomial coefficeients and multivariate beta functions. HAL archives(2018), available online at https://hal. archives-ouvertes.fr/hal -01769288.
- [29]. R. L. Schilling, R. Song, and Z. Vondrăcek, Bernstein Functions-Theory and Applications, 2nd ed., de Gruyter Studies in Mathematics 37, De Gruyter, Berlin, Germany, 2012.
- [30]. Y. Wang, L. -Sh Liu, Y. -H Wu Positive solutions for a class of higher-order singular semipositone fractional differential system, Advances in Difference Equations£- 2014(2014), 268.
- [31]. Y. Wang, L. -Sh Liu, Y. -H Wu, Positive solutions for a nonlocal fractional differential equation Nonlinear Anal., 74 11(2011), 3599-3605.
- [32]. Y. Wang, L. -Sh Liu, Y. -H Wu, Existence and uniqueness of a positive solution to singular fractional differential equations Boundary Value Problems, 81 2012.
- [33]. D. V. Widder, The Laplace Transform, Princeton University Press, Princeton, 1946.